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The table below embodies data on the number of students admitted in three different
colleges (A, B and C) during six different years from 2014 to 2019. Based on the data
contained in the table, answer the questions 1-5 :

Year - Wise Number of Admitted students in different colleges :

Col]e_..ga

Year A B C

v

2014 8000 14000 11000
2015 15000 17000 13000
2016 17000 23000 19000
2017 13000 27000 23000
2018 22000 26000 24000
2019 27000 18000 16000

Sub questions

Question Number : 1 Question Id : 6154754898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which college was the number of students admitted in the year 2016 second lowest and
the number of students admitted in the year 2018 minimum respectively?

(1) College C and College B (2) College B and College A
(3) College C and College A (4) College A and College B
Options:

61547513101, 1
E1547513102. 2
E1547513103. 2
51547513104, 4

Question Number : 2 Question Id : 6154754899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the approximate percent (%) increase in the number of students admitted in college
A 1n the vear 2016 as compared to previous yvear?

(1) 23 % (2) 123 %
(3) 113 % (4) 13 %
Options:

£1547513105. 1
61547513106, 2
61547513107, 3
£1547513108. 4

Question Number : 3 Question Id : 6154754900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1= the difference between the total number of students admitted 1n college A overall the

vears together and the total number of students admitted 1n college C 1n the vear 2018 and
2019 together?

(1) 6400 (2) 62000
(3) 64000 (4) 61000
Options:

515475131051
61547513110, 2
61547513111, 3
E1547519112. 4

Question Number : 4 Question Id : 6154754901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Total number of students admitted in college C over all the years was approximately what

percent (%) of total number of students admitted in all the three colleges together in the
year 20177

(1) 168% (2) 162%
(3) 158% (4 175%
Options:

515475131121
51547513114, 2
61547513115 3
61547513116 4

Question Number : 5 Question Id : 6154754902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the average number of students admitted in college A in the year 2015. in college B
1n the vear 2016. and 1n college C 1n the yvear 2019 together?

(1) 18000 (2) 24000
(3) 17000 (4) 28000
Options:

E15475139117.1
615475131158, 2
515475131145 3
61547513120, 4

Question Id : 6154754897 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Question Label . Comprehension
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ai <7 A B C
2014 3000 14000 11000
2015 15000 17000 13000
2016 17000 23000 19000
2017 13000 27000 23000
2018 22000 26000 24000
2019 27000 18000 16000
Sub questions

Question Number : 1 Question Id : 6154754898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fiers C 31 Fi=i7 B (2) Hicid B 3K Ficdd A
(3)  Fierd C HW Ferd A (4) Fietd A 3IF F9 B
Options:

51547513101, 1
61547513102 2
61547513102, 3
61547513104, 4

Question Number : 2 Question Id : 6154754899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) 23% 2) 123 %
(3) 113 % 4 13%
Options:

515475131051
61547513106, 2
61547513107, 3
E1547513108. 4

Question Number : 3 Question Id : 6154754900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 6400 (2) 62000
(3) 64000 (4) 61000
Options:

515475131051
61547513110, 2
61547513111, 3
E1547519112. 4

Question Number : 4 Question Id : 6154754901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 168% (2) 162%
(3) 158% (4) 175%
Options:

E15475139112. 1
51547513114, 2
51547513115 3
61547513116, 4

Question Number : 5 Question Id : 6154754902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 18000 (2) 24000
(3) 17000 (4) 28000
Options:

£1547513117. 1
E15475191158. 2
£154751391143. 3
51547513120, 4

Sub-Section Number: 2
Sub-Section Id: 615475219
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154754903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following numbers would occur next in the series

2, 6, 30, 60, 130, 210 s

(1) 330 (2) 350
(3) 370 (4) 378
Options:

6154751391211
615475139122 2
61547513122 3
E15475139124. 4

Question Number : 6 Question Id : 6154754903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2, 6, 30, 60, 130, 210 ?

(1) 330 (2) 350

(3) 270 (4) 378
Options:

61547513121, 1
E1547519122. 2
E15475139123. 3
B1547513124. 4

Question Number : 7 Question Id : 6154754904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The compound interest on a certain sum of money for 3 years at the rate of 10% per annum is
Rs.993.00. The simple interest on the same sum at the rate of 8% per annum for 4 years

would be equal to which of the following?

(1) Rs. 900.00 (2) Rs. 930.00
(3) Rs. 960.00 (4) Rs.990.00
Options:

615475131251
E154751912E. 2
E1547513127. 3
515475131258, 4

Question Number : 7 Question Id : 6154754904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) 900 =. (2) 930%.
(3) 960 %. 4) 9907%.
Options:

E1547519125. 1
61547513126, 2
61547513127, 3
61547513128, 4

Question Number : 8 Question Id : 6154754905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pointing towards a man. a woman said, "His wife's father is the husband of my mother's only

daughter”. How is the woman related to the man?

(1) Daughter (2} Sister - in - law
(3) Sister {4) DMother - in - law
Options:

E15475191259.1
61547513120, 2
51547513121, 3
61547513132, 4

Question Number : 8 Question Id : 6154754905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3)  w&d 4) ¥
Options:

615475131291
61547513130, 2
E1547513121. 3
E15475139132. 4

Question Number : 9 Question Id : 6154754906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If the word TEACHER is coded as TCJACCV and the word SURGEON is coded as
PMGETSU in a certain code language, then which of the following will represent the word
CONCORD in that language?

(1) FTQEPQE (2) EQPEQTF
(3) FPQAFPME (4) EMPAQFPF
Options:

615475131321
61547513134, 2
E1547513135. 3
E1547513136. 4

Question Number : 9 Question Id : 6154754906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afs TEACHER ¥sg 1 TCJACCV ¥ Feaig T mam & 3t SURGEON =i ffi wior % %2 &

PMGETSU =gl ST & o fA=fefaa 8 9 319 39 9191 % CONCORD =1 Ufaf=iees = ?

(1) FTQEPQE (2) EQPEQTF
(3) FPQAPME (4) EMPAQPF
Options:

515475131331
61547513124, 2
61547513135 3
E1547513136. 4

Question Number : 10 Question Id : 6154754907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A solid is in the form of a cylinder with hemispherical ends. The diameter of the cylinder is
1/3 of its height (excluding the hemispherical ends). The total length of the solid including

the hemispherical ends 1s 56 cm. What is the surface area of the solid?

(1) 3080 em? (2) 2464 cm?
(3) 2772 cm? 4) 2156 cm?
Options:

E1547513137. 1
515475131238, 2
51547513135, 3
61547513140, 4

Question Number : 10 Question Id : 6154754907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3080 = #H (2) 2464 31 T4l
(3) 27729 T (4) 2156 = TH
Options:

61547513137, 1
E15475139138. 2
51547513139, 3
51547513140, 4

Question Number : 11 Question Id : 6154754908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the communication which 1s valid as documentary evidence from the following :

(1) Written Communication (2) Verbal Communication
(3) Gestural Communication (4) Non - verbal Communication
Options:

515475131411
615475139142 2
61547513142 3
E1547519144. 4

Question Number : 11 Question Id : 6154754908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T™&Rga 9918 (2) Tk HaTE

(3)  EE-WIE I HATg (4) FTIIEF TG
Options:
E1547519141. 1
1547519142 2
1547519142 =2
15475159144 4

Question Number : 12 Question Id : 6154754909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following groups of electronic scientists has been given in an order

chronologically?

(1) Guglielmo (G.) Marconi, Lumiere Brothers, Lee forest, John Fleming and

John Logie Baird

(2) John Logie Baird, Lumiere Brothers, Guglielmo (G.) Marconi, Lee forest and

John Fleming

(3) Lee forest, John Fleming, Lumiere Brothers, Guglielmo (G.) Marconi and
John Logie Baird

(4) Lumiere Brothers, Guglielmo (G.) Marconi, Lee forest, John Fleming and

John Logie Baird
Options:
51547519145, 1

E1547513914E. 2
51547513147, 3
515475131458, 4

Question Number : 12 Question Id : 6154754909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547519145, 1
61547519146 2
61547519147, =
1547519148 4

Question Number : 13 Question Id : 6154754910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following, first took the initiative for appointing a University Education

Commission during pre-independence period?

(1) Lord Curzon (2) Lord Ripon
(3) Lord Wellesley (4) Lord Bentick
Options:

515475131451
61547513150, 2
61547513151, =
E1547513152. 4

Question Number : 13 Question Id : 6154754910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) = Foe (2) @S frA
(3) S Ao (4) e fafeam st
Options:

5154751314591
51547513150, 2
61547513151, 2
61547513152, 4

Question Number : 14 Question Id : 6154754911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following groups of commission on education has been given chronologically

in an order of year in which they were constituted?

(1) Kothari Commission, Mudaliar Commission, Radhakrishnan Commission
(2) Radhakrishnan Commission, Mudaliar Commission, Kothari Commission
(3) Mudaliar Commaission, Kothari Commission, Radhakrishnan Commission
(4) Radhakrishnan Commission, Kothari Commission, Mudaliar Commission
Options:

515475131521
61547513154, 2
61547513155 3
61547513156 4

Question Number : 14 Question Id : 6154754911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475191531
£1547519154 2
61547519155
61547519156 4

Question Number : 15 Question Id : 6154754912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is signified by the term ‘hetu’ in the process of anumana

(inference) in classical Indian School of Logic?

(1) Example Provided (2) Statement of reason
(3) Proposition to be proved (4) Conclusion Proved
Options:

515475131571
61547513158, 2
61547513159, 3
E1547513160. 4

Question Number : 15 Question Id : 6154754912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) LS R (2) =HET F HEH
(3)  Tag # = w=w (4) Tag o
Options:

61547513157, 1
£15475139158. 2
51547513159, 3



E1547513160. 4

Question Number : 16 Question Id : 6154754913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assumption of an unperceived fact in order to reconcile two apparently inconsistent perceived
facts 18 known in Indian Logic as :

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Arthapatti (Implication) (4) Anupalabdhi (Non-apprehension)
Options:

E1547519161. 1
E1547513162. 2
51547513163, 3
51547513164, 4

Question Number : 16 Question Id : 6154754913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) A (2) 3JuHH
(3) = (4) TR
Options:

£1547513161. 1
61547513162, 2
E1547513163. 3
B1547513164. 4

Question Number : 17 Question Id : 6154754914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following combination of propositions is considered to be contraries in the
classical square of opposition?

(1) Universal affirmative and universal negative

(2) Universal affirmative and particular affirmative

(3) Particular affirmative and universal negative

4) Particular affirmative and particular negative
Options:

E1547513165. 1
E1547513166. 2
61547513167, 3
615475131658, 4

Question Number : 17 Question Id : 6154754914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

51547519165, 1
61547519166 2
61547519167, 2
61547519168 4

Question Number : 18 Question Id : 6154754915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following i1s not a part of immediate deductive inference?

(1) Conversion (2) Obversion
(3) Syvllogism (4) Contraposition
Options:

£1547513169. 1
E15475139170. 2
E15475139171. 3
B1547513172. 4

Question Number : 18 Question Id : 6154754915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  aRada (2) wfdaaa

"

(3)  HAEETH (4) HfguiEda
Options:
615475131691
61547519170, 2
61547519171 =
61547519172, 4

Question Number : 19 Question Id : 6154754916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following factors does not contribute to learning mathematical concepts
(1) Real life events

(2) Assessing the existing mathematical knowledge of the learner before deciding

the syllabi

(3) Teaching mathematics and history together
(4) Narrating the life experiences of the mathematician who has given the concept
Options:

£1547513172. 1
E1547519174. 2
E1547513175 3
51547513176, 4

Question Number : 19 Question Id : 6154754916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547513173 1
61547513174 2
615475139175 3
E1547513176. 4

Question Number : 20 Question Id : 6154754917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following 1s NOT an alternative to traditional assessments?

(1) Multiple Choice Questions (2) Performance Test
(3) Portfolios (4) Exhibitions
Options:

515475131771
61547513178, 2
61547513179, 3
61547513180, 4

Question Number : 20 Question Id : 6154754917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547513177, 1
E154751391758. 2
E1547513173. 3
51547513180, 4

Question Number : 21 Question Id : 6154754918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A college teacher conducts a quiz session with a view to accelerate the tempo of motivational
participation. This will form part of which type of evaluation?

(1) Summative evaluation (2) Criterion based evaluation
(3) Formative evaluation (4) Diagnostic evaluation
Options:

51547513181, 1
61547513182 2
61547513182, =
E15475139184. 4

Question Number : 21 Question Id : 6154754918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547513181, 1
61547513182 2
61547513182, =
E1547519184. 4

Question Number : 22 Question Id : 6154754919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s NOT the principle associated with Positivism?
(1) Phenomenalhism (2) Deductivism

(3) Inductivism (4) Interpretivism



Options:

51547519185, 1
1547519186 2
1547519187, 2
61547519188, 4

Question Number : 22 Question Id : 6154754919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475131851
61547513186, 2
61547513187, 3
61547513188, 4

Question Number : 23 Question Id : 6154754920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In grounded theory, researchers collect data using theoretical sampling until theoretical

saturation is achieved. This process can be summarized in the following sequence.

(1) Sample theoretically decided —» Collect data — Analyse data — Theoretical

Saturation

(2) General research question — Collect data — Sample theoretically decided — Analyse

data — Theoretical Saturation

(3) Sample theoretically decided — General research question — Collect data —

Theoretical Saturation

(4) General research question — Sample theoretically decided — Collect data —

Analyse data — Theoretical Saturation
Options:
E15475131859. 1
E1547513190 2
615475131591 =
61547513192 4

Question Number : 23 Question Id : 6154754920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547519189, 1
61547519190 2
61547519191, 2
61547519192, 4

Question Number : 24 Question Id : 6154754921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ways that would be followed by a public sector organization to communicate with
public by organizing an open house :

(a) Publicity

(b) Lobbying

(c) Public relations

(d) Image building

Choose the correct option :

(1) (a), (c) and (d)
(2)  (b). (c) and (d)
(3)  (a), (b) and (d)

(4 (a), (b)and (c)
Options:
6154751914921
615475191494 2
615475191395, 2
61547519196 4

Question Number : 24 Question Id : 6154754921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4)  (a), (b) F (c)
Options:

E1547519192. 1
L1547519194 2
L15475149195 =
L1547519196 4

Question Number : 25 Question Id : 6154754922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the institutions which are not authorized to confer degree according to UGC Act

1956:

(a) Institutions established under linguistic minority
(b) Deemed to be Universities
(c) Constituent Colleges

(d) Affiliated Colleges

Choose the correct option :

(1) (a), (b) and (d) only
(2) (a), (b) and (c) only
(3) (b), (¢) and (d) only

(4) (a), (c) and (d) only
Options:

15475191971
1547519198 2
154751591959 2
G1547519200, 4

Question Number : 25 Question Id : 6154754922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4)  (a), (c) 3R (d)
Options:
£1547519197. 1
61547519198, 2
£1547519199. 3
£1547519200. 4

Question Number : 26 Question Id : 6154754923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements is/are correct in the context of ‘Digital India’ Initiative of
Government of India?

(a) National Digital Library of India (NDL India) is a 24 x 7 online store house of all
academic awards duly digitized and lodged by academic institutions.

(b) National Academic Depository (NAD) is an all — digital library that stores information
(metadata) about different types of digital contents relevant to the citizens.

Choose the correct option :

(1) (a) only (2) (b) only
(3) Both (a) and (b) (4) Neither (a) nor (b)
Options:

E1547513201. 1
B1547513202. 2
61547513203, 3
61547513204, 4



Question Number : 26 Question Id : 6154754923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) Fae (a) (2) I (b)
(3)  (a) 3 (b) 3HI (4) T4 (a) AXFF (b)
Options:

E1547513201. 1
E1547513202. 2
61547513203, 3
61547513204, 4

Question Number : 27 Question Id : 6154754924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following statements is / are correct?

(a) WWW is a network of networks that first started with four computer nodes.

(b) WWW 1s a service that runs on the Internet.

Choose the correct option:

(1) (=2)only (2) (b) only
(3) Both (a) and (b) (4) Neither (a) nor (b)
Options:

E1547513205. 1
E15475139206. 2
61547513207, 3
51547513208, 4

Question Number : 27 Question Id : 6154754924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547513205. 1
E15475139206. 2
61547513207, 3
61547513208, 4

Question Number : 28 Question Id : 6154754925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Academic performance of students is determined by :

a) Intelligence

b) Motivation

(

(

(c) Physique
(d) Gender

(

1) (a) and (b) only (2) (a)and (d) only
3) (b) and (c) only (4) (c) and (d) only
Options:

51547513209, 1
61547513210, 2
61547513211, 2
61547513212, 4

Question Number : 28 Question Id : 6154754925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475132091
61547513210, 2
61547513211, =
BE1547519212. 4

Question Number : 29 Question Id : 6154754926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Spread of forest fires is influenced by

(a) Slope
(b) Soil Moisture
(c) Wind

Choose the correct answer from the options given below:

(1) (a) and (b) only (2) (b) and (¢) only
(3) (a) and (c) only (4) (a), (b) and (c)
Options:

E1547519213. 1
61547519214, 2
61547513215 3
E1547513Z216. 4

Question Number : 29 Question Id : 6154754926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475192131
61547519214 2
61547519215 2
61547519216, 4

Question Number : 30 Question Id : 6154754927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below 1s guestion (Q) followed by three statements. Identify the statements (a. b. ¢)

that are necessary to answer the question.

Question : What 1s the average age of 30 students studving in a class?

(a) Boys and girls in the class are in the ratio 7:8
{(b) The average age of boyvs and girls 1z 12.2 vears and 11.4 vears. respectively.
(c) The number of bovs 1n the class 1s two less than the number of the girls in the class.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (b) and either (a) or (c)
Options:
615475192171
15475159218 2
£1547519219 2
61547519220 4



Question Number : 30 Question Id : 6154754927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) =39 (a) 31 (b)
(2)  #Fad (b) 3 (c)
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4) (b)) 3T (a) T (o)
Options:
E1547519217. 1
L1547519218. 2
L15475192149 2
L1547519220. 4

Question Number : 31 Question Id : 6154754928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements with reference to categorical propositions :

(a) “Some birds are mammals” is a particular

subject term alone.

(b) “Some birds are mammals” is a particular

predicate term alone.

(c) “Some birds are mammals” is a particular

both subject and predicate terms.

(d) “Some birds are mammals” is a particular

neither subject term nor predicate term.

Choose the correct option from below :

(1) Only (a) and (d) are correct
(2) Only (c) and (d) are correct
(3) Only (b) 1s correct

(4) Only (d) is correct
Options:

154751592211
61547519222 2
61547519223 3
1547519224 4

affirmative proposition and it distributes

affirmative proposition and it distributes

affirmative proposition and it distributes

affirmative proposition and it distributes

Question Number : 31 Question Id : 6154754928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
615475192211
61547519222 2
61547519222, 3
61547519224 4

Question Number : 32 Question Id : 6154754929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a group setting which of the following factors hinder creativity of its members?

(a) Norm to maintain consensus at any cost

(b) To think without any fear of being ridiculed
(c) To respect one another’s ideas

(d) To criticize if somebody’s idea 1s not correct

Choose the correct option :

(1) (a) and (c) only (2) (b) and (d) only
(3) (c) and (b) only (4) (d) and (a) only
Options:

515475132251
E1547513226. 2
E1547513227. 3
E15475139225. 4

Question Number : 32 Question Id : 6154754929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

ot weE o T=fcifaa 9 9 foreeh R0 997 & T2 il -G8 398G a8
(a) Tt oft g T oTW TEEla S9T @ T OOEE

(b)  ETH = U & % I H HFq Twad

(c) U G °h ToER % UTG ST

(d) Tt =afaq =1 o9 319 B9 1 290 § S

[ .
&l Tahed MY, ¢

L) T (a) 3 (o) (2) Fa (b) W (d)
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Options:

BE1547519225. 1
B1547513226. 2
B1547513227. 3
E1547513228. 4

Question Number : 33 Question Id : 6154754930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two among the following factors are responsible for transgression of ethical principle
in research?

(a) Harm to the participants
(b) Lack of informed consent
(c) Not greeting the participants after the experiment is over

(d) Asking difficult questions

Choose the correct option :

(1) (a) and (c) only (2) (b) and (c) only
(3) (a) and (d) only (4) (a) and (b) only
Options:

BE1547519229. 1
61547513220, 2
61547513221, 3
E154751323%2. 4

Question Number : 33 Question Id : 6154754930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
154751592291

B1547519230. 2
BE1547513221. 3
61547513232, 4

Question Number : 34 Question Id : 6154754931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following activities are performed by the researcher in an ethnographic

research?

(a) Conducts structured interview with the members of the community
(b) Gets immersed 1n a social setting for an extended period of time

(c) Listens to and engages in conversation

(d) Tries to educate people about the harms of some evil practices

Choose the correct answer :

(1)  (a) and (b) only
(2) (a) and (c) only
(3) (b) and (d) only

(4) (b) and (c) only

Options:
615475192531
61547519224 2



E15475139235. 3
61547513236, 4

Question Number : 34 Question Id : 6154754931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
615475192331
61547519224, 2
61547519235
61547519236 4

Question Number : 35 Question Id : 6154754932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match correctly the items of column I with the items of column II

(a)
(b)
(c)
(d)
(1)
(2)
(3)
4)

Options:

Column I
Dyslexia
Dysgraphia
Dyscalculia
ADHD
(a)-(), (b)-(i11), (c)-(iv), (d)-(1)
(a)-(i1), (b)-(111), (c)-(1), (d)-(iv)
(a)-(iv), (b)-(1). (c)-(ii1), (d)-(i1)
(a)-(), (b)-(v), (c)-(11), (d)-(111)

E1547513237. 1
E1547519238. 2
E1547519239. 3
51547513240, 4

(1)
(11)
(111)

(1v)

Column II
Difficulty in doing mathematics
Difficulty in reading
Difficulty in writing

Difficulty in concentrating

Question Number : 35 Question Id : 6154754932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1), (b)-(111), (¢)-(iv), (d)-(i1)
(2) (a)-(11), (b)-(111), (¢)-(1), (d)-(1v)
(3) (a)-(v), (b)-(1), (¢)-(ii1), (d)-(11)

(4) (a)-(1), (b)-(iv), (¢)-(11), (d)-(i1)
Options:
615475192571
61547519228, 2
61547519229, 5
61547519240 4

Question Number : 36 Question Id : 6154754933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following communication channels with their distinguishing type :

(Communication Channel) (Distinguishing Type)
(a) Blogging (1)  Electronic Media
(b) Television (11) Print Media
(c) Periodicals (111) Social Media
(d) Collection sites (1v) World wide web

Choose the correct option from those given below :

(1) (a)-v), (b)-(i1), (c)-(1), (d)-(i11)
(2) (a)-(11), (b)-(@v), (c)-(11), (d)-@)
(3) (a)-(1), (b)-(a11), (c)-(v), (d)-(11)
(4) (a)-(i11), (b)-(1), (¢)-(1), (d)-(iv)

Options:

61547519241,
61547519242,
61547519243,
51547519244,

[ N

Question Number : 36 Question Id : 6154754933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-av), (b)-(1), (c)-(), (d)-(ii1)
(2) (a)-(11), (b)-(1v), (c)-(111), (d)-(1)
(3) (a)-(1), (b)-(m1), (c)-(v),
4)  (2)-Gi1), (b)-@), (c)-(1), (d)-(iv)

Options:

51547519241, 1
E1547519242 2
61547519242 5
61547519244 4
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Match the following classes of chemicals with their deseriptions :

(a)
(b)

(c)

(d)

{Chemical Class)

Allergens
Mutagens

Carcinogens

Teratogens

(1)

(11)

(iii)

(iv)

{(Description)

Chemicals that alter or damage the
genetic material (DNA) cells

Substances that activate the immune
svstem

Chemicals that specifically cause
abnormalities during embrvonics
growth and development.

Substances that cause invasive out of
control cell growth resulting in
malignant tumors.

Choose the most appropriate option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(iid). (b)-(iv). {e)-(1), (d)-(ii)
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(a)-(id). (b)-(1). (e)-(1v), (d)-(iii)
(a)-(ii1). (B)-(2). (e)-(i1). (d)-(iv)

515475132451
61547513246, 2
61547513247, 3
E15475192458. 4

Question Number : 37 Question Id : 6154754934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)
(2)
(3)
(4)

(a)-(1m1). (b)-(1v). (c)-(1). (d)-(11)
(a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(a)-(11). (b)-(1). (¢)-(1v). (d)-(111)
(a)-(111). (b)-(1). {e)-(1). (d)-(1v)



Options:

515475132451
61547513246, 2
61547513247, 3
E15475192458. 4

Question Number : 38 Question Id : 6154754935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List — I with List — 11

(a)
(b)
(c)
(d)

List I
50 in decimal
102 in decimal
Real — Time video conferencing

SMS texting

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(1), (c)-(111), (d)-(av)
(a)-(1), (b)-(), (c)-(v), (d)-(i11)
(a)-(2), (b)-(a1), (c)-(111), (d)-(1v)
(a)-(1), (b)-(i1), (c)-(1v), (d)-(ii1)

E1547513249. 1
E1547519250. 2
E15475139251. 3
B1547513252. 4

®)
(11)
(111)

(1v)

List 1T
0110010 in binary
1100110 in binary
Synchronous communication

Asynchronous communication

Question Number : 38 Question Id : 6154754935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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(1) (a)-(1), (b)-(2), (c)-(11), (d)-(iv)
(2) (a)-(), (b)-(), (c)-v), (d)-(111)
(3) (a)-(1), (b)-(11), (c)-(i11), (d)-(iv)
(4) (a)-(1), (b)-(11), (¢)-(1v), (d)-(111)

Options:

61547519249, 1
E1547519250. 2
61547519251, 5
61547519252 4
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Match correctly the contribution / conecept of Column II with the names of the thinkers given

1n Column I

(a)
(b)
(c)

(d)

Column I
Karl Popper
T.5. Kuhn

Paul Feverabend

Francis Bacon

Select appropriate option:

(1)
(2)
(3)
(4)

Options:

(a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(a)-(1v). (b)-(111). (c)-(12). (d)-(1)

(a)-(v), (b)-(m1). (c)-(1). (d)-(11)

51547513253, 1
61547513254, 2
61547513255, 3
61547513256, 4

(1)
(11)
(111)

(1v)

Column IT
Inductive method
Against the method
Paradigm

Falsification

Question Number : 39 Question Id : 6154754936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Y [ 9 {50 T IFeH /a0 & @9 [ 1 sfeafad =al & g gafad Fiie

=y - 1 e - 11
(a) I TR (i) AT Wity
(b) 21 TH. FA (i) fafa % wfaeg
(c) Hid FEES (i) EqTEet
(d) s (iv) Tz

(1) {a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(2) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)
(3) (a)-(1v). (b)-(111). (c)-(11), (d)-(1)

(4) (a)-(1v). (b)-(111). (e)-(1). (d)-(12)

Options:

61547519253, 1
61547519254 2
61547519255
61547519256, 4

Question Number : 40 Question Id : 6154754937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following types of communication with their distinguishing examples

(Types of Communication)

(a) Formal Communication (1)

(b) Informal Communication (11)
(¢) Outward Communication (111)
(d) Inward Communication (1v)

Choose the correct option from those given below :

(1) (a)-(111), (b)-(1v), (¢)-(1), (d)-(11)
(2) (a)-(11), (b)-(i11), (¢)-(iv), (d)-(1)
(3) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v)
(4) (a)-(1v), (b)-@), (c)-(11), (d)-(ii1)

Options:

61547519257, 1
61547519258 2
61547519259 2
61547519260, 4

Distinguishing Example)
Government agencies
Circular
Memos

Group chain

Question Number : 40 Question Id : 6154754937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



TIRad JhH o H=R 1 396 (999 ISTE0T o STTHR A iU

(FTHT = TFR) (fafere 3gTewon)
(a) SITETGR F91 (i) TN Ul
(b)  ITHITEIN R (i) TRTF
(c) &l HER (i) I
(d) ST T=R (iv) FEgaEe
fafRad § 9 981 foereT =1 =399 T

(1 (a)-@11), (b)-(iv), (e)-1), (d)-(1)
(2) (a)-(11), (b)-(il), (c)-(iv), (d)-@1)
(3) (a)-(1), (b)-(11), (c)-(1i1), (d)-(1v)
(4) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)

Options:

154751492571

15475149258, 2

61547513259, 3
E1547513260. 4

Question Number : 41 Question Id : 6154754938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that contains only optical storage media

(1) USB memory stick, Blu — Ray disk, CD — ROM, DVD
(2) DVD, CD — ROM, USB memory stick, CD — RW

(3) Hard disk, USB memory stick, CD — ROM, DVD

(4) DVD, CD — R, Blu — Ray Disk, CD — RW

Options:
61547519261, 1
61547519262 2



E15475139263. 3
B1547513264. 4

Question Number : 41 Question Id : 6154754938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= f

HArad § ¥ 39 T9hed &l g4 Toed &% Aifeha TS JIsaT IHa 8 7

- [

O AT R, R, A, AR G
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(2) S EN, = E-1W, g uH o " e, 91 31 - N g5y

o ™ ™

(3)  FTE 5%, g vH & AWdl feosh, o Ei-1w, o A o

™,

(4) S, A OS AR, -1 TSER, | ¥ - R Ty

Options:

61547519261, 1
61547519262 2
61547519263 2
61547519264 4

Question Number : 42 Question Id : 6154754939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Noise levels at a traffic site are recorded for one hour at a sampling interval of 1 second and
percentile indices of noise Li, Lio, Lso, Lo are computed from the data. The indices are then
arranged in increasing order in terms of their values starting from minimum to maximum.

Which of the following options represents their correct order?

(1) L1, Lo, Lso, Loo
(2) Lo, Liso, Lo, La
(3) Liso, Lso, Lio, La

(4) Lao, Liso, Lo, La
Options:

615475192651
61547519266, 2
1547519267 2
15475192658, 4

Question Number : 42 Question Id : 6154754939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) La. Lao. Liso. Lao
(2) Lio. Lso. Leo. L1
(3) Lso. Leo. Lio. Lt
(4) Loo. Lso. Lao. L1

Options:

61547519265, 1
61547519266 2
61547519267, 2
61547519268 4

Question Number : 43 Question Id : 6154754940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one labelled as Assertion (A) and the other labelled as

Reason (R).

Assertion (A) :  In the afternoon of a hot sunny day during the summer season, the
tropospheric ozone levels in a city like Delhi are expected to be lower as

compared to morning and evening.

Reasons (R) : In the afternoon period, atmosphere i1s unstable and its dilution potential

is higher as compared to mornings and evenings.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanationof (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
1547515926591
15475192702
15475159271 2
15475159272 4

Question Number : 43 Question Id : 6154754940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (A) 3R (R) = F=#1 & 31T (R) (A) = 521 =71 2|
(2)  (A) 3R (R) 3F T 7 Td (R) (A) F T2 = T64 2 |
(3) (A wE = Mg (R) ™1 & |

(4) (A) =T 2 T (R) ®71 7 |
Options:
61547519269, 1
61547519270 2
61547519271, 2
E15475159272. 4

Question Number : 44 Question Id : 6154754941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements — one labelled as Assertion (A) and the other labelled as

Eeaszon (R).

Assertion (A):  Information Technology 1= fast becoming a verv important field of activity
1n India.

Reasons (R) : Software 1z one of the major exports of India and further India has a very

strong base in hardware.

In the hight of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 15 true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

615475192731
E1547519274. 2
61547519275, 5
61547519276, 4

Question Number : 44 Question Id : 6154754941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (A 3R (R) 21 581 2 311 (R) (A) Tl Tl =31 2 |
(2)  (A) W (R) =EI #& & 31 (R) (A) F1 51 =031 746 2 |
B) (A)FE R R) TR AR &

4) (A= TR 2 R (R)FE R
Options:
61547519273
61547519274
61547519275,
61547519276,

o LI M

Question Number : 45 Question Id : 6154754942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other labelled as

Reason (R).

Assertion (A):  The Governor has the power to ask for any information from the Chief
Minister regarding the administration of the State.

Reaszons (R) : The Governor 1s the real Head of the State administration.

In the context of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1s false. but (R) 1s true
Options:
1547519277 1
61547519275 2
E1547519279. 3
615475139250 4

Question Number : 45 Question Id : 6154754942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A AR (R) TF 9&1 & 3R (A) il ¥&1 =3re (R) 2 |
(2) (AR (R) TE @ B g, (R) (A) 1 581 = 74 2 |
(3) (A)TEE, TRg (R) T4 2 |

4) (A T4 &, fFg (R) 581 7 |

Options:

61547519277, 1
61547519278 2
E1547519279. 2
61547519250, 4

Sub-Section Number: 3
Sub-Section 1d: 615475220
Question Shuffling Allowed : Yes

Question Id : 6154754943 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehiension

Read the following passage and answer gquestions which follow.

I do not wish to suggest that the humanistic elements 1in education are less important than
the utilitarian elements. To know something of great hiterature. something of world history
something of music and painting and architecture. 1s essential if the Iife of imagination 1s to
be fully developed. And 1t 1s only through imagination that men become aware of what the
world might be: without it. ‘progress’ would become mechanical and trivial. But science. also
can stimulate the imagination.

Psychology was until fairly lately. a merely academic study. with very little application to
practical affairs. This 1= all changed now. We have. for instance. industrial psychology.
clinical psvchology. educational psychology: all of which are of the great practical
1mportance. We mayv hope and expect that the influence of psychology upon our Institutions
will rapidly increase 1n the near future. In education. at any rate. 1ts effect has already been
great and beneficent.



Sub questions

Question Number : 46 Question Id : 6154754944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per the passage, people become aware of “What the world might be?” only through

(1) Literatue (2) History
(3) Imagination (4) DMusic
Options:

E1547519281. 1
B1547513282. 2
61547513283, 3
61547513254, 4

Question Number : 47 Question Id : 6154754945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per the passage, without imagination the ‘progress’ would become

(1) Humanastic (2) Mechanical
(3) Creative (4) Realistic
Options:

51547513285, 1
61547513286, 2
E1547513287. 3
61547513288, 4

Question Number : 48 Question Id : 6154754946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage psychology until recently was of very little

(1) Academic orientation. (2) Application in academics
(3) Application to practical affairs (4) Application to imagination
Options:

E15475139289. 1
51547513230, 2
51547513231, 3
61547513232, 4

Question Number : 49 Question Id : 6154754947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the passage, the author is optimistic about

(1) The utilitarian elements in education

(2) Decrease in the role of imagination in education

(3) The role of psychology in laboratories

(4) Increase in the influence of psychology upon institutions.
Options:

61547513232, 1
E1547519234. 2
E15475139235. 3
51547513236, 4

Question Number : 50 Question Id : 6154754948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per the passage, if the life of imagination is to be fully developed, some exposure to the
following is required :

(a) Literature (b) World history
(c) Music (d) Politics.

Choose the correct options from these given below :

(1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (a), (b) and (d) (4) Only (a), (b) and (c¢)
Options:

61547513237, 1
E154751392395. 2
E154751392395. 3
51547513200, 4

Question Id : 6154754943 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions




Question Number : 46 Question Id : 6154754944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ii=Rg o STER S 1 EHAR S BEEAIe o 91 # e R meem | SIEant e et 27

(1)  =ifEe (2) sfaEm
(3)  TFoeuAT-ITiEd (4) =AM
Options:

B1547513281. 1
B1547513282. 2
G1547513283. 3
61547513254, 4

Question Number : 47 Question Id : 6154754945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

INTRE  ITIAR FOHI-I19d o IHE H WG 341 & a-rrm-r_f 7
(1)  AFgaEm] (2) =it

r

(3) SEEIRE? (4) IJLITh
Options:
E1547513285. 1
E1547513286. 2
BE1547513287. 3
61547513288 4

Question Number : 48 Question Id : 6154754946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TN=RE o STIHR 50 71 & JU1 aF FAIGE 1/ 95 & FH

(1) FRGHF IR 97 | (2) TRIEHE SIEM 97|
(3)  =HTEETER SUFET of | (4) THeUET TG foTU SU=ET of |
Options:

61547513259, 1
E1547519230. 2
515475132391, 3
61547513232, 4

Question Number : 49 Question Id : 6154754947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(2) e & wHowifTa it qfew § B
(3) SETTEATAT H FATIRH 6l e

(4)  HEYHI § HAMGTE & 999 | SAHgig

Options:

61547519293, 1
61547519294 2
61547519295 =2
E1547519296. 4

Question Number : 50 Question Id : 6154754948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ti=wg * IGER G FHoul TEa w1 T ™ FA B a1 Hefaigd § § e 9ier-9ga 39 B2
7

(a)  ®EE (b) o sfoem

(c) =M@ (d) Tl

(1) a9 (a) 7 (b) W& & (2) Ed (a) 3 (o) TEI B
(3) = (a), (b) W (d) FET & (4) 99 (a), (b) 3 (c) Tl &
Options:

E15475139297. 1
E15475139238. 2
61547513255, 3
61547513200, 4
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Number of Questions; 92
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154754949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6 51EafG Fasestifeg Sumad raaT 5o
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b) o= W
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{1) (a) @92 (d) (2) (a)499s (c)
(3) (b) @92 (d) (4) (c) 9492 (b)
Options:

61547513201, 1
61547513302, 2
E1547513203. 3
E1547513204. 4

Question Number : 51 Question Id : 6154754949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TSt = s
b) TR o= W
(c) el = (ol=l

(d) g =M

@2 BIFbd WiHT (&4 ﬁfﬁ s rshe Famiesife e, fofee 39

(1) {(a) G492 (d) (2) (a) 992 ()
(3) (b) @92 (d) (4) (c) 9492 (b)
Options:

51547513201, 1
61547513302, 2
61547513302, 3
E1547513204. 4

Question Number : 52 Question Id : 6154754950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475132051
61547513206, 2
61547513207, 3
E1547513208. 4

Question Number : 52 Question Id : 6154754950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THeH WReEE ‘5 57 e &g sonE @ 17 ot Ja wew aFgsd s aem:

(1) (2) A
(3) TFIeTes (4) SIGE
Options:

515475132051
61547513206, 2
61547513207, 3
61547513308, 4

Question Number : 53 Question Id : 6154754951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547519209, 1
1547519210 2
1547519211, 2
61547519212 4

Question Number : 53 Question Id : 6154754951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475193209, 1
1547519210 2
61547519211, 5
61547519212 4

Question Number : 54 Question Id : 6154754952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
°F T IS BIA0 WOl 1% 9106 78T Te;

(a) [ 1 i
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(1) (a) ©42 (b) (2)  (b) 99% (c)
(3) (c) 92 (d) (4) (a)4€9e (d)
Options:

E1547513213. 1
E1547519214. 2
51547513215 3
61547513216, 4

Question Number : 54 Question Id : 6154754952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) ©92 (b) (2) (b) Q9% (¢)
(3) (c) 992 (d) (4) (a) E49s (d)
Options:

E15475139213. 1
E1547519214. 2
51547513215 3
51547513216, 4

Question Number : 55 Question Id : 6154754953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a) qrLet

b)  THE

() B[ hﬂ

(d) ) k:ﬁ?lﬁ}f

«wafer ey a1 g <91 = oeefs

(1)  (a) 932 (o) (2) (b) 932 (a)
(3)  (b) 932 (d) (4) () €32 (d)
Options:

E15475139217. 1
E1547513218. 2
51547513219, 3
61547513220, 4

Question Number : 55 Question Id : 6154754953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 992 (c) (2) (b)) Y192 (a)
(3) (b) @92 (d) (4) (c) 992 (d)
Options:

615475132171
61547513218, 2
61547513319, 3
E1547519220. 4
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Question Number : 135 Question Id ;: 6154755033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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@ s (iv) REss, @1 Ap
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(1) (a)- (11). (b)- (1). (e)- (1v). (d)- (111)
() (a)- (111). (b)- (1v). (¢)- (1). (d)- (11)
(3) (a)- (1v). (b)- (1m1). (¢)- (11). (d)- (1)

(4) (a)- (1m1). (b)- (11). (c)- (av). (d)- (1)
Options:
61547519637, 1
61547519638, 2
61547519639, 3
61547519640, 4

Question Number : 135 Question 1d : 6154755033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 Giferasr frst eiferst
(a) TrEmrggEe 1) OESFIEI, WA TE
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(1) (a)- (11). (b)- (1). (c)- (av). (d)- (111)
(2) (a)- (111). (b)- (v). (c)- (1). (d)- (11)
(3) (a)- (1v). (b)- (1m1). (e)- (11). (d)- (1)

(4) (a)- (111). (b)- (1), (e)- (w). (d)- (1)
Options:
6154751396371
E1547519628. 2
61547519639, 3
61547519640, 4

Question Number : 136 Question Id ;: 6154755034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o Biferst fasm wifers
(a) WHHTTHT STleTo WS G641 @ o
(b) O ATIIE 3 AT T61 (i) T

(c) BT: 8 TS AWYs 747 S FFIT I64T  (1ii) oMot

(d) YEEEE TN AET NAET TEA (iv) T@wer
ST ba ANET 4T @ Te@e ogoE 5 Saalt biee I

(1) (a)- (11). (b)- (1). (c)- (av). (d)- (111)
(2) (a)- (1v). (b)- (11). (c)- (111). (d)- (1)
(3) (a)- (11). (b)- (). (c}- (2). (d)- (12)
(4) (a)- (1v). (b)- (111). (c)- (11). (d)- (1)

Options:

1547519641, 1
E1547519842 2
61547519642 o
61547519644 4

Question Number : 136 Question Id : 6154755034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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o Biferst fasm wifers
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(c) BT: 8 TS AWYs 747 S FFIT I64T  (1ii) oMot

(d) YEEEE TN AET NAET TEA (iv) T@wer
ST ba ANET 4T @ Te@e ogoE 5 Saalt biee I

(1) (a)- (11). (b)- (1). (c)- (av). (d)- (111)
(2) (a)- (1v). (b)- (11). (c)- (111). (d)- (1)
(3) (a)- (11). (b)- (). (c}- (2). (d)- (12)
(4) (a)- (1v). (b)- (111). (c)- (11). (d)- (1)

Options:

1547519641, 1
E1547519842 2
61547519642 o
61547519644 4

Question Number : 137 Question Id : 6154755035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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oG HoTPs (ATF 5% BEdb (b=s T

(1) (a) Q<92 (d)
(2) (b) Q9% (c)
(3) (a) A4z (c)

(4} (b) «¥g% (d)
Options:
61547519645 1
E154751964E. 2
BE1547519647. =
615475139645 4

Question Number : 137 Question 1d : 6154755035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a) ‘oo S ogead 68 F19 971

(b) TR o T @RI T 7 ‘TaeET Ot 2ate T (ol |
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(d) wR o4 sifaeEs o TTasay o0 95T SEa|
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Ay HelPe (AT 0% Sea’ BEe T

(1) (a) 992 (d)
(2) (b) Q9% (c)
(3) (a) vz (c)

(4) (b) 992 (d)

Options:



E1547519645. 1
61547519646, 2
515475139647, 3
E15475136458. 4

Question Number : 138 Question Id : 6154755036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

G AT SIeT SOTEETE ST FEF06 B - ORF 1897 (ST 57 :
(a)  TIETEE THE AT @05 Io007 TAET TS0eTAT |
(b)  THF 20T ool THHATE 7S ST TR |

(¢) WAL SEFET WG TP FEA |

(d) w3 Belsld P ¢U¢-T@H—lﬂﬁ Hlwo! 4T Hid $dio |

s R ] i

waafem waeT o FE Tewe ogoE fie Seaft ftfes v -

(1)  (a) €3¢ (b)
(2) (b) 992 (c)
(3)  (a)«€dg (d)
(4)  (b)«€de (d)

Options:

61547519649, 1
61547519650 2
61547519651, =
61547519652 4

Question Number : 138 Question 1d : 6154755036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T ATHIT SITe T SETEE T S FETT 3% - 037 897 (787 507 :

(a)  OTETER *NHE AAT (@@ IeT007 TTGK1T ASCTIT |
(b)  THT 21 el NIYHF 7St eTHE I0EE |

(€) WA VRET NETFET BY TSI S |

(d) SV IEEEE FoT-FS-9QT NCo! 0T T FACO |

i R il il

waafam unmT e o Tewe oE e Seaft bies v

(1) (a) ©9% (b)
(2 {(b) €92 (c)
(3) (a) ¥ (d)

(4) (b) 9@F< (d)

Options:

51547519649, 1
61547519650 2
1547519851 =2
1547519852 4

Question Number : 139 Question Id : 6154755037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 989 @ Ihe omm
(2) TG @ he 523 =
(3) T 9T Ihe BT
(4)  WEF G IiT 538 wmm

Options:

61547519653, 1
1547519854 2
1547519855 =2
61547519656, 4



Question Number : 139 Question Id : 6154755037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) T8 9% Ihe o9T
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(4) TG @ Ihe 533 oEm

Options:

61547519653, 1
61547519654, 2
61547519655 =
61547519656 4

Question Number : 140 Question Id : 6154755038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SiFe T SEEEE TawEy’ Imisa 43w sifasaar TEA:

(1) qHq (2) Wiz
(3) fEm (4) ST HILET
Options:

BE15475139657. 1
51547513658, 2
61547513655, 3
61547513660, 4

Question Number : 140 Question Id : 6154755038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sie 3 SEEEE by’ Imisa 4w sfasaar FEA:

(1) qH9 (2) Wiz
(3) fEm (4) oFEILT
Options:

E1547519657. 1
61547513658, 2



E15475139659. 3
51547513660, 4

Sub-Section Number: 2
Sub-Section Id: 615475222
Question Shuffling Allowed : Yes

Question Id : 6154755039 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

wryfae aree fEey 3 arsifer eigwer 3feser st Afawtn [FE gt sfmearims |
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Sub questions

Question Number : 141 Question Id : 6154755040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“STIPIOT THOT Tom T;

(1) = (2) B
(3) FM (4) T
Options:

E15475139661. 1
61547513662, 2
E1547513663. 3
61547513664, 4

Question Number : 142 Question Id : 6154755041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FTE T@NIS *b 56T

(1) @3 7T (2) F=HiE W
(3)  Ta®m ey (4) TTEIF SSFT TN
Options:

E154751396E5. 1
E1547513966E. 2
B1547513667. 3
61547513668, 4

Question Number : 143 Question 1d : 6154755042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
G E PR G GGG I EE

(a) GERI0 fﬁ IR
(b)  Ta=al csfaat g5

(c) T 94

(d) O g6l

e

Ag ATFe (AT 55 et fBfes o

"

(1) (a) 992 (b) (2) (b) €2 (c)
(3) (a) G9F2 (c) (4) (b) QT2 (¢
Options:

61547513669, 1
E1547519670. 2
E1547519671. 3
B1547513672. 4

Question Number : 144 Question Id ;: 6154755043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

ATE SRR (ATF 106 PTG F8T7 (78T T;

(a)  “sifgew ffasr U3 ToSig TIeeg SiET 8 TS 906 bowad “fast 3es AiEer QT
fFipe IEERS B |

by ‘s sfast oyl swam sfas = o1t =9 8 cifas v6iT v ofF =R
feE1

(¢  FoimE JAraar e & |

(d) Y fPe! qe1te “Yifae’ Jae fBeE aow @ [ o3| O3 4415 490gas, o9 9W Fe
@0e i Sy Fel’ |

og HelEe (AT 5% Saeall

bl A

(1) (a)- T3 (b)- JW0% (c)- B (d)- I&=7 (2)  (a)- I8% (b)- W3 (c)- I8F (d)- Ba
(3) (a)- B8 % (b)- W8TF(c)- Ba(d)- T8 (4) (a)- Ba (b)- Ba(c)- IW™H(d)- Ba

Options:

61547519673, 1
61547519674 2
61547519675 2
1547519876 4

Question Number : 145 Question Id : 6154755044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS DIIORI b ST O FI069 89T @ ©IF ACATE Jhe (aTT o0

AT ‘AfE - 9T 9T SR eTEe! fiae |
IiE: @91, @A Afas’ Snse ste o 1

T G Jhea Aeies 5 Swalt Gire o

(1) BT 3 932 Ihe 99 (2) BT WT 43¢ R TITH
(3) BT OWE W98 IhE W (4) TET IWT G2 Ihe OO
Options:

61547513677, 1
E154751967E. 2
E1547519673. 3
51547513680, 4

Question Id : 6154755039 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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THhete e Refce sfare | e <ifasn’ oe 93 ©F3 9150 oIl oEE 4499
e, A 8 oyfas e elF-smE 4= AT SNl oFtad foed fr IR¥Er s
wrfte BT (AR ARTET - 9T A9 @he figer Ireifer #tomea ceam ST FERAAE Qe TP
TR i ol B ) E T s < s S o 1 i 15 | = < P o D S R G T o b o B S i e S N )
#FifTe 7o “iffen’-a3 | Aifxer-wi7-Ffrg Sacsw@s wiesifes @fETota OF6T ™6 ST I3
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Sub questions

Question Number : 141 Question Id : 6154755040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“STIFIOT THIOT HTom T:

(1) T (2) g
(3 FG (4) O
Options:

E1547519661. 1
B1547513662. 2
61547513663, 3
61547513664, 4



Question Number : 142 Question Id : 6154755041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s (AN "D o

(1) a5 (2) I S

(3)  Tae o (4) SETF S FF A
Options:

51547513665, 1
61547513666, 2
61547513667, 3
E154751396EE. 4

Question Number : 143 Question Id : 6154755042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘TATEAT e (@RINT:

(a) fameTgar a1
(b) I%Eﬁ 5714 5 S|

ic) HHE G5

(d) w3 d6A1

i

otrg HelTe (AT 5% Gadlb (bes T

(1) (a) 992 (b) (2) (b) 442 (c)
(3)  (a)9d2 (c) (4) (b) 932 (c)
Options:

E154751366%9. 1
B1547513670. 2
1547513671, 3
61547513672, 4

Question Number : 144 Question Id : 6154755043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  “dfaen ofasr @3 ol Treeng SaT @ TET OF0 SoaEd sfasr sene TfEer g
fefpe TAEeTS M|

(b)  “oifFen sifasr onyfe s sfas e offls = 8 @ifas 56 oF@ o Ty
e

(c) oS Farmar B o |

(d) s eer qee “vifapa’ A e 7orw o A o3| O o9rs 490gas o W Fe
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(1) (a)- B (b)- @7 (c)- B (d)- D7 (2)  (a)- 9183% (b)- ¥ (c)- I8 (d)- W=

(3) (a)- J87 (b)- BGB(c)- Ba(d)- TABT  (4) (a)- B7 (b)- B=J(c)- I8F(d)- Ba

Options:
E1547519673. 1

E1547519674. 2
61547513675, 3
B1547513676. 4

Question Number : 145 Question 1d : 6154755044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
[y [,
TG Sqi&hlD ‘«55*1»‘-'15:1‘:T d AICbd Hady 3 Sld ACHTE Ihee (3T 34:

T ‘AfTEE’ - 9T OFO1 STRIETEST T |

IfE: @ a9, @ ATasE Srrnae e AT 71

s O O il

T547 8 Fhea ATs 55 Swaft bies o

(1) g4l 8% G4E Y& O (2) 1997 O G9% I I
(3) G BS5 A4dR e S (4) TEqT I8 A48 Ihe T80
Options:

61547513677, 1
E1547513675. 2
61547513673, 3
E1547513680. 4

Sub-Section Number: 3
Sub-Section 1d: 615475223
Question Shuffling Allowed : Yes

Question Id : 6154755045 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
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Sub questions

Question Number : 146 Question Id : 6154755046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ege wecT ‘a1l @ S (VT TR S T4

(1) IS (2) Borahs
(3)  =rEhy (4) TS
Options:

E1547519681. 1
B1547513682. 2
G1547513683. 3
61547513654, 4

Question Number : 147 Question Id : 6154755047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tge W (AT HEfG Braie  3ge:

(a)  WIATHEE FIEAE JETCIR ©F (REHFA |

(b)  WAEEE A2 ©ob! AT 94, Tob! 73+ |

¢ fiosa nimwrm @ drrfs, ©F Aewnd 9om o Shets |
(d) WIEEEE 1EE 4 (ST TE0R, i OF O A s =3 T

i [ e I i

@%E BT Iy I~3'1"éh'r«'-::’|\?3i-“?'1§l E = Bl A6 T3 ﬁJ_ﬂﬁ LAl BT w e

(1) (a)- W= (b)- TE= (¢)- JNET= (d)- B
(2) (a)- B (h)- INJF (c)- W (d)- W5
(3) (a)- W (b)- T (c)- WFH(d)- THH

(4) (a)- 8% (b)- V= (e)- 8T (d)- BF
Options:
61547513685, 1
61547513686, 2
61547519687, 2
E154751968E. 4

Question Number : 148 Question Id : 6154755048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TqE W (AT vEfG Brae «3ge:

(a) W@ To 9@ fSeans!, e 9¢ F4 791

(b)  WIRHEE TID TEA1 ofF el |

(c)  FIrEATRT O™ Ind IFT FAT EAWY AT AAEEAT I #I0F e e
(d) WA EEE W foq 5D benT AmEa! B |

Sge wecE Fhnd Prasaltm owms 57 7@ e Seaft tvs w77

(1) (a)- B3 (b)- TWF (c)- IG5 (d)- B
(2) (a)- I8 (b)- 8% (c)- T (d)- 87
(3)  (a)- 9 (b)- W¥F(c)- BT (d)- 97
(4)  (a)- 7 (b)- 9T (c)- BT (d)- T9F

Options:

515475196589, 1
61547519690 2
61547519691, =
61547519692 4

Question Number : 149 Question 1d : 6154755049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fa

Ego W (AT TAfG Frae wigen:

(a) WEAEE biyoia arrifes ape o)

(b)  WIRCHCEE AT0E S5 o8 STty I5iend Sheaa ars |

(c) WA Gow AWEe GG BT A5G A Wi |

(d)  TEEEE WEAEY FIE BY 9T SIHSITes, Sy [SEpe o5 AR

O

@‘%EEEE‘ 7 Ay Prasafam names oE @ o HadIL [bITw A :

(1) (a)- B (b)- T8 (c)- W7 (d)- BF
(2) (a)- B33 (b)- W (c)- W= (d)- ST
(3) (a)- B (b)- T8 (c)- T (d)- TO=
(4) (a)- 8% (b)- B (c)- TBa (d)- B3

Options:

61547519693, 1
1547519894 2
1547519895 =2
61547519696, 4

Question Number : 150 Question Id : 6154755050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tge =Moot ‘Grifs’s o ==

(1) (R IR (2) grager
(3) SRR (4) IRPIT
Options:

51547513657, 1
615475136358, 2
615475136399, 3
E1547513700. 4

Question Id : 6154755045 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension



sfeT IeTte, WR@ETT A qres Afsrew dfffmen fFeawst, wigen oegE ST oF
it freme 1% wot T0sf, @@ T Tows 4 (8T =, A9rwE A4S 3 911 O SEET
T 7ItF qrdT 97, No@a AT vEras | oryfas qretfer ofsw WAerTE geaEel e @
TresAy ooite 9195 @ wig ALIEAT WATS QI @ @AT CING g Whed@d JEs?,
Ay Ty e, feat & ol am o sewT swEar arsite e Tia, uae ofF I aETl
T IAe SEEe ThEEe T (Ul T OINIE o et ©Ete TEes ol
NAEEE 39S AaTdiite A1FRed (T ofpY (Y, (T SF &0 AFgIb0e TGl S (HIar
TEAICeS, (F3- WIS APARLS TIPS A6S 77, ARNCTT BT ICed P T+ 71a, JAGEIOS,
o EEmHE | 58 9-71 U 74 T @6 T FIE qenn? FIER 0, 95 96 S9ER
Treifer Fifate cuar 91, IFHAIT 9T I%7 TAEE CETAT WY AT FHIETAT NTa0T |

Sub questions

Question Number : 146 Question Id ;: 6154755046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tge weCT T =T @ ST (VT TR S T

(1) IEIE] (2) Ferghs
(3) =aEhkT (4) TS
Options:

E15475139681. 1
B1547513682. 2
61547513683, 3
61547513654, 4

Question Number : 147 Question 1d : 6154755047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tge W (AT HEfG Braie  3ge:

(a)  WIATHEE FIEAE JETCIR ©F (REHFA |

(b)  WAEEE A2 ©ob! AT 94, Tob! 73+ |

¢ fiosa nimwrm @ drrfs, ©F Aewnd 9om o Shets |
(d) WIEEEE 1EE 4 (ST TE0R, i OF O A s =3 T

i [ e I i

@%E BT Iy I~3'1"éh'r«'-::’|\?3i-“?'1§l E = Bl A6 T3 ﬁJ_ﬂﬁ LAl BT w e

(1) (a)- W= (b)- TE= (¢)- JNET= (d)- B
(2) (a)- B (h)- INJF (c)- W (d)- W5
(3) (a)- W (b)- T (c)- WFH(d)- THH

(4) (a)- 8% (b)- V= (e)- 8T (d)- BF
Options:
61547513685, 1
61547513686, 2
61547519687, 2
E154751968E. 4

Question Number : 148 Question Id : 6154755048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TqE W (AT vEfG Brae «3ge:

(a) W@ To 9@ fSeans!, e 9¢ F4 791

(b)  WIRHEE TID TEA1 ofF el |

(c)  FIrEATRT O™ Ind IFT FAT EAWY AT AAEEAT I #I0F e e
(d) WA EEE W foq 5D benT AmEa! B |

Sge wecE Fhnd Prasaltm owms 57 7@ e Seaft tvs w77

(1) (a)- B3 (b)- TWF (c)- IG5 (d)- B
(2) (a)- I8 (b)- 8% (c)- T (d)- 87
(3)  (a)- 9 (b)- W¥F(c)- BT (d)- 97
(4)  (a)- 7 (b)- 9T (c)- BT (d)- T9F

Options:

515475196589, 1
61547519690 2
61547519691, =
61547519692 4

Question Number : 149 Question 1d : 6154755049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fa

Ego W (AT TAfG Frae wigen:

(a) WREER Boia arrifsa ope s
(b)  WIRCHCEE AT0E S5 o8 STty I5iend Sheaa ars |

(c)  WIRTHETT TpwT #RITEl! (NTGT SF IT5TG FT Wi |

(d)  TEEEE WEAEY FIE BY 9T SIHSITes, Sy [SEpe o5 AR

Eqe we e Ay Frasafmm wares o 30 5 Sealt bivs w3 -

(1) (a)- B (b)- T8 (c)- W7 (d)- BF
(2) (a)- B33 (b)- W (c)- W= (d)- ST
(3) (a)- B (b)- T8 (c)- T (d)- TO=
(4) (a)- 8% (b)- B (c)- TBa (d)- B3

Options:

61547519693, 1
1547519894 2
1547519895 =2
61547519696, 4

Question Number : 150 Question Id : 6154755050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tge =Moot ‘Grifs’s o ==

(1) [P (2) Frmae
(3) HaTE (4) TRTINE
Options:

51547513657, 1
615475136358, 2
615475136399, 3
E1547513700. 4



